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V Semester 3 Yr. LL.B./IX Semester 5 Yr. B.A.LL.B./B.B.A.LL.B.
Examination, December 2015

CIVIL PROCEDURE CODE AND LIMITATION ACT

Duration : 3 Hours Max. Marks : 100

Instructions : 1. Answer Q. No. 9 and any five of the remaining.

2. Q. No. 9 carries 20 marks and the remaining questions
carry 16 marks each.

3. Answers should be written either in English or Kannada
completely.
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Q. No. 1. Discuss the rules in C.P.C. relating to transfer of suits. Marks : 16
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Q. No. 2. Briefly describe the different parts of a plaint. Marks : 16
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Q. No. 3. Explain the different modes of service of summons. Marks : 16
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Q. No. 4. What are the different modes of executing a decree in a money
suit ? Marks : 16
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Q. No. 5. What is a commission ? What are the circumstances in which a
commission may be appointed ? Marks : 16
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Q. No. 6. What is revision ? How does it differ from an appeal ? Marks : 16
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Q. No. 7. What is an acknowledgement of debt ? What is its effect on
limitation ? Marks : 16
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Q. No. 8. Write notes on any two of the following : Marks : 2×8=16

(a) Bar on jurisdiction

(b) Set off and counter claim

(c) Condonation of delay.
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Q. No. 9. Answer any two of the following : Marks : 2×10=20
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(a) Ramesh is a permanent resident of Belagavi and Ashok is a

permanent resident of Dharwad. Ramesh has taken a loan

from Ashok at Belagavi. He has not repaid the loan till today.

Ashok has instituted a suit for the recovery of the said loan,

against Ramesh at Dharwad. Ramesh has raised objection

as to the jurisdiction. Decide.
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(b) Mahesh had sued Anirudh for defamation. The suit was

decided in favour of Mahesh. Anirudh has preferred an appeal

against the judgement of trial court. Mahesh died during the

pendency of appeal. LRs of Mahesh have applied for being

impleaded as respondents. Decide.
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(c) Ketan is a tenant in the house of Sameer for last 30 years.

Sameer is now in need of the house for his own occupation.

He has filed a petition for eviction against Ketan. Ketan

contends that he has become owner by adverse possession.

Decide.
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